[image: image1.jpg]g A2014 £ 6 A 19 =18

T4 2014 s P EFRAE ét%—ﬁh
g =R A B

; #4120 %, % KA 120 54
B : 14@5#7&‘ SR, 24 DA, 4:%»
< 0 ki RIN A AR, ERERBEEAEL RBERMELHE,FR RE&E.

—\ﬁ#ﬂ(:&iﬂ% 6 /G, /83 4,3 18 S HMNERE—1ERER)

1. TSR, BAKBR( )

A__;_ B.0 Biin) D.2
2 H 6 A EESE (A .C)N 23,25,28,25,28,31,28, UK A B4R AR B

P pBaANE(C ).

A25,25 B.28,28 25,28 D.28,31
3. FOIBBIEHBE( ).

A.d+d’=a’ B.(-2a?)’=—64°

C.(2a+1) (2a-1)=2a%-1 D.(2d’-a?)+a*=2a~1
4. B y=x+1 5 y=-204+a IR R EE—RFR, M « WEEFTURE( ).

A-1 B.0 G.1 1.2

5. I, SR EEAF TRGE—N ST E M AR EORNT, ﬁ“%ﬁﬁ?ﬂ*&
NEXFER, A EE—8UG, EF&3E. U FRREE S, ERfHE(

B 'Z""E'
A B

silg —
6. ER H 1] o %k y—?E‘J@%ﬁHEE%m U R R y=2ka—4x+k* FIEIRR
O ).

B¥EREE 515 (I 6T)




